
1

Installation ZXADJB30PSS, ZXADJB36PSS, ZXADJ48PSS

Instructions 30" to 36" Adjustable Backsplash

31-10692
04-08 JR

TOOLS AND MATERIALS REQUIRED
• Gloves to protect against sharp edges
• T-15 and #2 Phillips screwdrivers
• Drill with 3/32" and 9/64" bits
• Safety glasses
• Level
• Pencil

This Kit Includes
• Top wall support 
• Bottom wall support 
• Top cover with shelf
• Bottom cover
• Hardware package with

– 9 Stainless Steel Torx 15 #8
self-tapping screws

– 9 Phillips #2 pan head wood #10 screws
– 3 Stainless Steel #2 truss head 

#10 screws (for alternate 
installation method)

WARNING:
To prevent ignition of combustible materials, 
the entire back wall above the range must 
be protected by a backsplash constructed 
of non-combustible material.

INSTALL THE WALL SUPPORT PANELS

WARNING: The wall support panels
must be securely fastened to the wall. Failure to
do so could result in damage or personal injury.

IMPORTANT: This backsplash is designed to cover the wall
between the bottom of the hood and the top of the range.
The vent hood should be installed over the rangetop or
range before installing this backsplash.
• Install and level the Range/Rangetop according 

to the product installation instructions.
• Remove backsplash packaging and protective film.
• Locate wall studs on each side. Where studs are not 

available, plan to use wall anchors (not provided).
• Use a level to pencil 2 horizontal lines on the wall, 

one 1/8" below the vent hood and the other 1/8" above
the Range/Rangetop. This 1/8" space allows the cover
panels to overlap the wall supports.

• Secure the top wall support panel to the wall with 4 wood
screws, through the outermost studs.

• Use 4 wood screws to secure the bottom wall support
panel. The center slot should be positioned at the top.

The gap between the top and bottom support panels 
will be covered by the top cover with shelf.

1/8″

Secure the top
panel to the wall 
with 4 wood
screws

1/8″

Secure 
the bottom panel 
to the wall with
4 wood screws

Center 
Arrow

Wood Screws

Wood 
ScrewsTop Wall

Support

Top Cover
with Shelf

Bottom Cover

Bottom Wall Support

761Dia65
Hardware 
Package

BEFORE YOU BEGIN
Read these instructions completely 
and carefully.

IMPORTANT: Save these instructions for local
inspector’s use. 
IMPORTANT: OBSERVE ALL GOVERNING CODES 
AND ORDINANCES.
NOTE TO INSTALLER: Be sure to leave these 
instructions with the Consumer.
NOTE TO CONSUMER: Keep these instructions 
with your Owner’s Manual for future reference.
• This backsplash adjusts to fit the space between 

the top of the range and the bottom of the hood, 
from 30" Min. to 36" Max. height.

• Maximum shelf load-bearing weight is 40 lbs.



2

INSTALL COVER PANELS (cont.)
ALTERNATE METHOD: When side access is blocked
• Install bottom cover over the bottom support while

driving one screw into each side.
• Hold top cover in place while marking screw

locations, just below shelf support and onto bottom
cover.

• Remove the shelf and drill a 9/64" diameter 
hole in the pencil-marked locations.

• Mount the top cover over the top support 
and secure the front cover with screws through 
the drilled holes on each side.

• Install screws through each top corner.

ZXADJB30PSS, ZXADJB36PSS, ZXADJB48PSS Accessory Installation

INSTALL COVER PANELS
See alternate method if side access is blocked.
• Hold the bottom cover over the bottom support 

while driving one screw (provided) into each side. 
• Place the top cover with shelf over the top wall 

support. If you have access to the sides, secure 
the panel with two screws on each side.

• Secure the top cover with shelf to the top 
support with screws through the front of the panel,
at the top corners. Use one screw on each side.

Shelf

Install 
Screw

Cover Panel
Install 
Screw

Mark Screw Locations
for Alternate Method

Install Screw in Top Corner on Each Side

Install Screw 
on Each Side

Install Corner Screws



3

Consignes ZXADJB30PSS, ZXADJB36PSS, ZXADJ48PSS

d’installation Dosseret ajustable 30" à 36"

OUTILS ET MATÉRIEL NÉCESSAIRES
• Gants pour vous protéger des parties tranchantes
• Tournevis cruciforme 2 et T-15
• Percez avec des forets 23 mm 

(3/32") et 35 mm (9/64")
• Lunettes protectrices
• Niveau
• Crayon

Ce Kit comprend
• Panneau de support mural
• Panneau mur inférieur
• Top cover with shelf
• Plaque inférieure
• Sachet de matériel contenant

– 9 tornillos auto-roscantes #8 
Torx 15 de acero inoxidable

– 9 tornillos de estrella #2 para 
madera de cabeza troncocónica #10

– 3 tornillos de cabeza segmentada 
#10 de acero inoxidable #2 (para 
un método de instalación alternativo)

AVERTISSEMENT:
Afin d’éviter que les matériaux inflammables ne prennent
feu,  la totalité de la surface du mur se trouvant au-dessus
de la cuisinière doit être protégée par un dosseret ignifuge.

INSTALLEZ LES PANNEAUX 
DE SUPPORT MURAL

AVERTISSEMENT: Les panneaux
de support mural doivent être correctement fixés
au mur afin d'éviter toute blessure ou dommage
matériel.

IMPORTANT: Ce dosseret est conçu pour couvrir le mur
entre la partie supérieure de la cuisinière et la partie
inférieure de la hotte. La hotte d’extraction doit être installée
sur la table de cuisson ou de la cuisinière avant d’installer 
le dosseret.
• Installez et ajustez la position de la table 

de cuisson/cuisinière conformément aux consignes
d’installation.

• Retirez l’emballage du dosseret et le film protecteur.
• Localisez les poteaux muraux sur chaque côté. 

En l’absence de poteaux, utilisez plutôt des chevilles
murales (non fournies).

• Utilisez un niveau pour tracer au crayon 2 lignes
horizontales sur le mur, une à 1/8" sous la hotte
d’extraction et l’autre à 1/8" au-dessus de la table de
caisson/cuisinière. Cet espace de 1/8" fait que le panneau
de recouvrement se superpose aux supports muraux.

• Fixez le panneau mural supérieur au mur à l’aide de 4 
vis à bois, à travers les poteaux externes.

• Utilisez 4 vis à bois pour fixer support mural inférieur.
La rainure centrale doit être placée en haut.

L’espace séparant le panneau de support du bas de celui 
du haut sera comblé par la plaque supérieur avec étagère.

31 mm

Fixez le panneau
supérieur au mur
avec 4 vis à bois

31 mm

Fixez le panneau
inférieur au mur
avec 4 vis à bois

Flèche
centrale

vis à bois

vis à
bois

Support mural
supérieur

Plaque 
supérieure 
avec étagère

Plaque inférieure

Support mural
inférieure

761Dia65
Sachet 

de matériel

AVANT DE COMMENCER
Lisez attentivement l’ensemble des
consignes.

IMPORTANT: Conservez ces consignes, elles peuvent
vous être utiles pour toute inspection de votre
installation.
IMPORTANT: RESPECTEZ TOUTES LES NORMES AINSI
QUE LES RECOMMANDATIONS PRÉCONISÉES PAR 
LES AUTORITÉS COMPÉTENTES.
REMARQUE À L'ATTENTION DE L'INSTALLATEUR:
Après intervention, assurez-vous d’avoir remis ces
instructions à l’utilisateur.
REMARQUE À L'ATTENTION DE L’UTILISATEUR:
Conservez ces instructions avec le manuel de
l’utilisateur pour toute consultation ultérieure.
• Ce dosseret est conçu combler l’espace entre 

le haut de la cuisinière et le bas de la hotte, entre
une hauteur maximale de 76 cm et 91 cm.

• Le poids maximal de portance de l’étagère 
est de 18 kg.



4

INSTALLEZ LES PANNEAUX 
DE RECOUVREMENT (suite)
MÉTHODE ALTERNATIVE : en cas d’obstruction 
de l’accès latéral
• Installez la plaque inférieure sur le  support inférieur

tout en vissant une vis de chaque côté.
• Maintenez la plaque supérieure en place tout 

en marquant les emplacements des vis, juste 
en dessous de l’étagère de support et sur la plaque
inférieure.

• Retirez l’étagère et percez un trou de 0,35 cm (9/64")
de diamètre dans les emplacements tracés 
au crayon.

• Montez la plaque supérieure sur le support
supérieur et fixez la plaque à l’aide de vis dans 
les trous percés sur chaque côté.

• Install screws through each top corner.Installez 
les vis à travers chaque coin supérieur.

ZXADJB30PSS, ZXADJB36PSS, ZXADJB48PSS Installation d’accessoires

INSTALLEZ LES PANNEAUX 
DE RECOUVREMENT 
Optez pour la méthode alternative si l’accès
latéral est bloqué.
• Maintenez la plaque inférieure sur le support tout 

en vissant une vis (fournie) de chaque côté.
• Placez la plaque supérieure avec l’étagère en place

sur le support mural supérieur. Si vous pouvez
accéder aux deux côtés, fixez le panneau avec 
deux vis sur chaque côté.

• Fixez la plaque supérieure avec l’étagère sur le
support supérieur et fixez la plaque à l’aide de vis
sur l’avant du panneau, sur les coins supérieurs.
Utilisez une vis par côté.

Étagère

Installez
une vis

Panneau de recouvrement
Installez
une vis

Marquez les emplacements
des vis pour l’autre méthode

Installez la vis sur le coin supérieur de chaque côté

Installez la vis sur
chaque côté

Installez les vis pour les coins



5

Instrucciones ZXADJB30PSS, ZXADJB36PSS, ZXADJ48PSS

de instalación Salpicadero ajustable de 30" a 36"

Soporte 
de pared
superior

Cubierta 
superior con estante

Cubierta inferior

Soporte de pared inferior

761Dia65
Paquete de
ferretería

HERRAMIENTAS Y MATERIALES
REQUERIDOS
• Guantes para protegerse de bordes filosos
• Destornilladores T-15 y de estrella #2
• Perforadora eléctrica con mechas 

de 3/32" y 9/64"
• Gafas de seguridad
• Nivel
• Lápiz
Este kit incluye
• Soporte de pared superior
• Soporte de pared inferior
• Cubierta superior con estante
• Cubierta inferior
• Paquete de ferretería con

– 9 tornillos auto-roscantes #8 Torx 15 
de acero inoxidable

– 9 tornillos de estrella #2 para madera 
de cabeza troncocónica #10

– 3 tornillos de cabeza segmentada #10 de acero
inoxidable #2 (para un método de instalación
alternativo)

ADVERTENCIA:
Para prevenir el encendido de materiales
combustibles, debe protegerse toda la pared
trasera de la cocina mediante un salpicadero
construido con un material no combustible. 

INSTALE LOS PANELES DE SOPORTE DE PARED

ADVERTENCIA: Los paneles 
de soporte de pared deben estar bien sujetos 
a la pared.  No hacerlo puede provocar daños 
o lesiones personales.
IMPORTANTE: Este salpicadero se encuentra diseñado para
cubrir la pared entre la parte inferior de la capucha 
y la parte superior de la cocina.  La capucha de ventilación
debe instalarse sobre la estufa o cocina antes de instalar 
el salpicadero. 
• Instale y nivele la cocina/estufa de acuerdo con las

instrucciones de instalación del producto. 
• Quite el empaque y la película protectora del salpicadero.
• Ubique los parantes en ambos lados.  Donde no haya

parantes disponibles, utilice anclajes de pared 
(no provistos).

• Utilice un nivel para marcar con lápiz 2 líneas
horizontales sobre la pared, una 1/8" por debajo de la
capucha de ventilación y la otra 1/8" por encima de la
cocina/estufa.  El espacio de 1/8" permite que los paneles
de cubierta se superpongan con los soportes de pared.

• Fije el panel de soporte de pared superior a la pared con
4 tornillos para madera, a través de los parantes
exteriores. 

• Utilice 4 tornillos para madera para fijar el panel de
soporte de pared inferior. La ranura central debe
ubicarse en la parte superior.

El espacio entre los paneles de soporte superior e inferior 
se cubrirá con la cubierta superior con estante.

1/8″

Fije el panel
superior a la
pared con 4
tornillos para
madera

1/8″

Fije el panel
inferior a la
pared con 4
tornillos para
madera

Flecha
centralTornillos para

madera

Tornillos
para

madera

ANTES DE COMENZAR
Lea estas instrucciones por completo 
y con detenimiento.

IMPORTANTE: Guarde estas instrucciones para 
el uso de inspectores locales.
IMPORTANTE: CUMPLA CON TODOS LOS CÓDIGOS 
Y ORDENANZAS VIGENTES. 
NOTA AL INSTALADOR: Asegúrese de dejar estas
instrucciones al consumidor.
NOTA AL CONSUMIDOR: Conserve estas instrucciones
con el Manual del propietario para referencia futura. 
• Este salpicadero puede ajustarse para poder

utilizarse en el espacio entre la parte superior 
de la cocina y la parte inferior de la capucha, con 
una altura mínima de 30” y una máxima de 36”.

• El peso máximo de capacidad de carga del estante 
es de 40 lbs.



6

INSTALE LOS PANELES DE CUBIERTA
(cont.)
MÉTODO ALTERNATIVO: Cuando el acceso lateral
se encuentra bloqueado. 
• Instale la cubierta inferior sobre el soporte inferior

mientras coloca un tornillo sobre cada lado. 
• Sostenga la cubierta superior en su lugar mientras

marca las ubicaciones de los tornillos, apenas
debajo del soporte de estante y sobre la cubierta
inferior.

• Quite el estante y perfore un orificio de 9/64"
de diámetro en las ubicaciones marcadas con lápiz. 

• Monte la cubierta superior sobre el soporte superior
y fije la cubierta frontal con tornillos a través 
de los orificios perforados sobre cada lado.

• Instale tornillos a través de cada esquina superior.

Instalación de accesorios ZXADJB30PSS, ZXADJB36PSS, ZXADJB48PSS

INSTALE LOS PANELES DE CUBIERTA
Ver el método alternativo si el acceso lateral 
se encuentra bloqueado. 
• Sostenga la cubierta inferior sobre el soporte inferior

mientras coloca un tornillo (provisto) sobre cada
lado.

• Coloque la cubierta superior con estante sobre 
el soporte de pared superior.  Si tiene acceso a los
lados, fije el panel con dos tornillos de cada lado. 

• Fije la cubierta superior con estante al soporte
superior con tornillos a través de la parte frontal 
del panel, en las esquinas superiores.  Utilice 
un tornillo en cada lado.

Estante

Instale 
el tornillo

Panel de cubierta
Instale 
el tornillo

Marque las ubicaciones
de tornillos para el
método alternativo

Instale un tornillo en la esquina superior de cada lado

Instale un tornillo
en cada lado

Instale tornillos en las esquinas



Notes

7



Printed in Mexico

NOTA: Mientras efectúa las instalaciones descriptas en este
libro, deben utilizarse gafas o lentes de seguridad.

Para servicio técnico local Monogram® en su área,
llame al 1.800.444.1845. 
NOTA: La mejora de los productos es un esfuerzo continuo
para General Electric.  Por lo tanto, los materiales, 
la apariencia y las especificaciones pueden sufrir cambios
sin previo aviso. 

GE Consumer & Industrial
Appliances 
General Electric Company 
Louisville, KY 40225
ge.com

REMARQUE : lorsque vous procédez aux installations
abordées dans ce manuel, il est fortement recommandé 
de porter des lunettes de sécurité.

Pour contacter le service de dépannage Monogram 
le plus proche de chez vous, veuillez appeler 
le 1.800.444.1845.
REMARQUE : la philosophie de General Electric fait la part
belle à l’innovation. C’est pourquoi les matériaux, les
caractéristiques et l’apparence extérieure peuvent faire
l’objet de modifications sans préavis.

NOTE: While performing installations described in this book,
safety glasses or goggles should be worn.

For Monogram® local service in your area, call 
1.800.444.1845.
NOTE: Product improvement is a continuing endeavor at
General Electric. Therefore, materials, appearance and
specifications are subject to change without notice.


